T(m,x,b)
7 =m-x+h

We'll be Iooking ok Collineakons of projechve plones

Def'n: A collineedion of o proectve plune (8, & TV is o funchon.

o= 8o 8
fx=LtRI

that preserues nCidence .
PT 1 <= (PYToll)

Notodion: o< (P) is owuuj denoted bj PT 4 < (1) b3 0

% ompoSifion

(Bp))= P pf

Trivial example :

The identity funckon L P'=P for ot purts P 4 0= 4 for ait poink 4

Less trivial example :
Recoll that we vsed projective. coordinades 05 one uurAﬁ fo build +he feal projechve
lone.
Pontst (w,biC) Gyb,C €® (not olk D)
Lines: Cm,n, K] mn,k R (not all O)
Tn both coses mulﬁy_lim WL the  coordinates bj A#0 8?\1&5 te Some point or Jne.
Tacidence: (ah, ) T Lonn K] (=D amtbnyck =0
Defim_ o Collineation ¥ on this Shucuee bfﬂ (a,b.CY= (b,t,u\ and
Cn, kT =Tn, k,m)
Obvioubltj, His is |-l and onto
Tncidente i preserved -
(w0, 0) T Tmyn, k7]
> ambbnt k=0
(3 o+ ok tam=p
=2 (b,(,&Y Ll Kk, m]
=7 (wb »(«\y—.[.tmln, KJ*

Suppose We howe o projechive plane P, L TVand ¥ and § are collineshims o} it.
Then ¥§= 50X is albo o Collineshion of fhe P(alL&, os is ¥

Q) X" 15 o Collineation

¥ is one Yo one nd onto (for both points and lines) becavse ¥ is I-l tnd onto
¥ preserves intidence

PL L& Prli;\:, I ey we hove P'T L
@@L L) ©PTL forat P 4L
(=P T |

Yy e ¥-X s e 1dmh'$ﬁ ollineskion

() We feed ¥0 Show that if ¥ & § e collineadions of (R, % T), then 30 is ¥=§o3.
¢35 19 -l becawse both ¥ wnd § wre (-1



*¥5 15 onto beeavse B and § are onto.
PLUEPT

= (YT W)

5p¥T )

We'll be looking at (P, £)~central Cor (P, L)-Gxiall collineakons
ie Collinenhion ¥ thod fix (don't move) P linewise and L pointwise .
e )Cor mrj line m with PTm we have m® =m and e\/er3 point (X
With YL £ We have & =0

Next time @ we'll oim for ¥ fives Some point likeWise &> ¥ fixes Some line poinlrwise



